. 7oA F orEE @R %

64 fawg g . O
Subject Code : 1 1 7 2
INTERMEDIATE EXAMINATION - 2025 'g ﬁ
=IHifsuz e - 2025 E’?
i | | ANNUAL / atfe
Set Code E %
3
eory/
PATRT: 70+20 + 6 s IS : 40
Total Questions : 70 i 6 d Pages : 40
(F94 : 392 15 firge) § (qoite : 70)
[ Time : 3 Hours 15 Mj 3 Marks : 70 ]
wRienferat & fargt Instructio didates :

1. Tl oMR 1. Candida r his / her
w¥T gieasT i &) Questior iSerial No.
AT ferdd | § 5 (10 Dig MR Answer

; . Sheet. - f
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R # 15 firge @7 SR allotted for the candidates to read
qHY fegr mar &4 the questions carefully.
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S. 98 gvq W ﬁ'? E’UG'} g ('} — 5. This question booklet is divideq intol

QU8-37 U9 @Ua-g| two sections — Section-A ang
Section-B.

6. TUS- H 70 TG wy & 6 In  Sectiond,  there  an,
f @ f6at 35 gy a1 gvaar 70 objective type questions, oy
Afart &) 35 g5 @ sl @7 of which any 35 questions are t,

) be answered. If more than
W 3 W gy o
35 1 Eﬂ 35 questions are answered, then

BITT | 5% & g 1 s PR & only first 35 will be evaluated
FTH I 37 & g Sveier e Each question carries 1 mark. For
W OMR 3IW-T5% o ﬁ;’q’ m el answering these darken the circle
o ) e / Fret qT 97 T with blue / black ball pen against

e FY1 fat s . y the correct option on OMR Answer
WeeT Sheet provided to you. Do not use

ver geret / "‘3"5'/ TGT M B whitener / liquid / blade / nail
OMR 3TY- A% H UGT FTAT 9T etc. on OMR Answer Sheet,

& =T wrET  giivm otherwise the result will be
g ‘ treated invalid.

7. @S -FH 207 I g7 & | 7. In Section - B, there are 20 short
TdE & w2 ofF Frifa & foit answer type questions, each

: : carrying 2 marks, out of which
#ﬁﬁ?lomﬁﬁ?éﬂr any- 10 questions are to be
srard g. ! 3:,%_ J-Iﬁ'ﬁ?h'g?-}' qus answered. Apart from these, there
53?&‘3????!:3?1%#’7#?;% are 6  long answer type
F I%IQ' 5 A& e ??‘, foref @ questions, each carrying 5§ marks,

fest 3 gyl &7 3Av AT fyard  out of which any 3 questions are

to be answered.

21

8. fd! HPR & 3@3?7%3? 3YFHIU FT 8. Use of any electronic appliances is
5T gulaEr T & strictly prohibited.
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[117]
W'Y - I / SECTION - A

TS vy Objective Type Questions

mmxﬁvom%mma;mwﬁmﬁqwi frrd & oo

#?!Wm?#"?wﬁﬁm#omsﬁzwﬁﬁwﬁfw

35 9yl ®T 3T ) 35x1=35

Question Nos. 1 to 70 have four options, out of which only one is correct.

You have to mark your selected option, on the OMR-Sheet. Answer any

35 guestions. 35x1=35

L QR SRR R s, Red s w1 pc smw 2, 9 1 de R
0 = Y T I R 5 Fram i A Rl w2

(4)  15a (B) 1lev

€) 9x1073 gm . D) =

Two equal positive point charges of 1 pC charge are kept at a

distance of 1 metre in air. The electric potential energy of the

system will be

(A) 1 joule (B) 1ev
(€) 9x1073 joule (D)  zero
25A/12/107 Page 3 / 40
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[ 117
fafafiga § & wit &1 9Es HA-91 A1 8 ?

(A) M (B) ¥
) s (D) FEmH/dee

Which one of the following is unit of capacity ?

(A) coulomb | (B) ampere

(€  volt o (DY coulomb/volt

foeht senfier <Rt e Pk et 2

(A) ﬁ'@iﬁ\ﬂ@ﬁrq{ (B) wHEiw® 3?[3&"[{“!_?

(©) %ﬁa;anaw o O =AFfRAP@R

The capacity of any condenser does not depend upon

(A) - shape of plates (B)I si?ze of élates - |

(C) charge on .platcs | (D) distance between plates
fort SR =TT % e waw w frga A g 2

(A) T S W (B) WaE % weaq

(C) HTAE S AY45°F R R (D) A

25A/12/107 Page 4 | 4(C
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The electric field on the outer surface of a charged conductor is
(A) parallel to the surface
(B)  perpendicular to the surface

(€} at 45° angle to the surface

(D) Zero

R el e Y wrett figa 4 3 v S, @ e F s B AT T
a2

A) I3 (B) T&l &7 & ST

(€} STEl & w1 g (D) «TEd &% H1 3l

If a conductor is placed in an external electric field, the field inside

the conductor will be

(A)  zero - (B) equal to the external field
(C) twice th-e external field (D) half the external field
fawa fors % 2 forg oA % fore Frerfiae # e o Wl & 2
(A) feufest St gmen FeTE Al B

(B) fRufes sl g0 AT gl 8

() TRufewt Sl vAIeH A1 BN ST & Fehel %

D) Rt st 3 gt 8
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()

i for two point ¢
Which of the following statements 15 truc | argﬂ

opposite sign ?
gative

(A) The potential energy is always ne

(B) The potential energy is always positive

(C) The potential energy can be either positive or negative

(D) The potential energy is zero
7. T 1 P g § 6 finelt aie dee @ oA AT g e
B) T AR % TR BT 2
(B) HerT aMAW % Eﬂr—ﬂrrzrma? g1 8
© i |
(D) o ST % i & FAEI @ 2
Gauss’s law states that the electric flux through a closed surface is
(A) proporﬁonal to the charge enclosed
(B} inversely proporﬁonal to the charge enclosed
(C) =zero |

(D)  proportional to the square of the charge enclosed

| 25A/12/107 TR
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fpaae-gel (kWh) HTH® 8

8.
(A) Sl B) wiE
(€ = Il (D) ®@A W
Kilowatt-hour (kWh) is the unit of
(A) encrgy ‘(/B,’ power
(C) torquc (D) force
9. ﬁﬂﬁ%ﬁ:{—mﬁwmﬁmwﬁafmﬁmmm% ?
(a)  EE @) R 1 frg-orees
) o= = Fam D) T & & T
Which of the following laws is based on the principle of e..nerg;,r-
conservation ?
(A) Ampere’s law (B) Faraday’s law of electrolysis
(C) Lenz'slaw (D) None of these
10. m%ﬁaﬁmmm%fﬁmﬁmm |
() el B wediE
€ fRrwEd? D) o | FE T
7 | 4C
25A/12/107 Page 7 /
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ﬂ d then its measurement limit
te

When an ammeter is shun
creases
i ases (B) de
(A) incre

these
ins unchanged (D) none of

@/-’remal
11. W&’ﬁﬁmﬂﬂﬁtﬂa?ﬁ %

| ~2
@) [MLT2A™?] (B) [MLT?A™"]

-2
(C) [MLT?A?] (D) [MLT “A]

Dimensional formula of pf:rmeability is

/ﬂﬁT‘zﬂ’zl (B) [MLF?A?]

(C) [MLT?A?] (D) [MLT2A] |
12. 2 g w T 2
) % | (B) 3w
(C) &l D) s

Unit of f_'io_ is
€0
oy Dewton_

coulomb (B) ohm

(C) h - .
Y (D) farad

[254/12/107 |
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13. AR % T8 Foaeh Aedunier § B 6 dEm a7 A 9@ QA FEER GRS

(FaERfteran)
(A) % TR B) ue w2
(C) ImRaffa wdit 2 (D) og Thdl & 91 2 Hehdl B

If the number of turns is increased in any moving coil

galvanometer, then its sensitivity

(A) increases ' W&creases :

(C) remains unchanged (D) may increase or may decrease
14. 3N fagati w |

A) B> B, . (B) B<By

(C) B=By | D) B=0

( B = T % qrahrd & i A ; BH=‘IE‘Q‘%W%W%
°eHh ) | | |

At neutral points

(A) B> BH {B] B < BH

© B=By Dy B=0

( B = intensity of magnetic field of magnet ; By = horizontal

component of magnetic field of the earth )

Page 9 / 40
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afe ford) wermad] wro &1 Rrat am IOA%,?ﬁ?{HEFIE"quEq%%I]

.
u,

¥

A) 5A (B) 7-07 A
(C) 10A D) 1414 A

The peak value of an alternating current is 10 A Its r
- Oot
square value will be

(A) SA B) 707A

(C) 10A | -JP)/ 14:14 A

16. ﬂ?ﬁgaﬁwwqaﬁsrﬁﬁmwmam%

(A) 0 B) 1

(C) 0'5. (D) 347'[3

In a purely inductive circuit, the power factor is-

[A) 0 | \.{B)/- 1

© 05 (D)  infinity

17. mm&mgﬁmmq&wﬁm@m%aﬁamm%
(A) o0° (B) 90°
(C) 180° (D) 45°

25A/12/107 Page 10 / 40
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[n an a.c. circuit containing only capacitor, the phase difference

between current and voltage is

@0 | By 90°
(C) 180° (D) 45°
18. angmaﬁ%rﬁrﬁbcqmﬂmﬁ(s’m%
B ie | @ Q“JL_TE
© 2m/IC | (D) —gl?/ﬁ
In resonance condition, the frequency of L-C circuit is
A) 51; 1% @B Z“JETE .
© o2wICT - D) —2%‘/35
19. @mzﬂgmmnhaﬁlwfﬁsﬁﬁwmmmﬁﬁ-ﬁﬁﬁw
i gt ' |
(A) SR (B) A
) s (D) i H B *era:u e
25A/12/107 Page 11 /40
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he value of current in >CCong,
the : :

In a step-up transformer;

i coil is
compared to the primary

i

A)/ ual (B) tos*
Ay cq

L

(C} more

20. 3N Etf‘ﬂ q Wﬁﬁw Hed WA e
(B) A Hg AU BE F A
(B)  dshdl g qYT 3 b S
(C) Yd a41 BIHH & &
(D) ¥ & B 7
image formed by convex misror s always
(A)  in between centre of curvature and focus

(B)  in between centre of curvature and infinity

{SJ/in between pole and focus

(D) none of these

25A/12/107 _
Page 12/
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(117 ]

af? el e R Prate i vl sl weda % f it P 30° F,

21.
A aTeEH H YT w9
(A) 3x108 H/3 (B) 1.5x108 #/8
(C) ~ 6x10° #fi/Q (D) 4-5x10° /2
If the critical angle for total internal reflection from any medium to
vacuum is 30°, then the velocity of light in the medium is |
(A) 3x10% m/sec (B) 1.5x10% m/sec
(C) 6x10% m/sec (D) 4-5x10® m/sec
22. ﬁmﬁsﬁ%aﬁaﬁ?ﬁaﬂ%ﬂmam%wqmmﬁﬁﬁaﬂmﬁ
foar i 21 A e e AT a9, qEel St IRE | S ‘
(A) 3mEl . (B) g
) farn (D) ¥ & B TR
The distance between two c_:harges is made half and one of the
charges is also halved. The force acting between the two will
become as compared to previous value
(A) half (B) double
\(9/ thrice (D) none of these
25A/12/107 Page 13 / 40
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24,

25.

|
FE W 356 1
T wRH ) Rvr v o Brm @ TR Ty

@ Vv P T
(A} V % gArE
(D) v2 & Hm’j’-'n?ﬁ
() "LIF % LEIERIG
The speed of an electron accelerated from rest Uunder a Pay,
difference Vis
(A)  proportional to v (B) P roportional to Vv
_ T ' . 2
(C) Proportional to %; (D) proportional to v
THEH = Rt amaw gar &
(A)  1.8x10-19 C/kg B) 1-67x10-19 C/kg
(C) 1.8x10l1 C/kg D)  6-67x10!! C/kg
The specific charge of electron jg
\(y/l'a"m " C/kg B) 1 ~19
C 1. 11 '
(C) 8x10 C}'kg Dy 6-6?:-:1011 C/kg
quiEt RALLLS (- ¥ .
w2 o ”“”"'%%%qaﬁq-zﬂ afir @
(A} 3y
B) g
€) Ry

(D) “Tﬁ?n
| 2547127107

Page 14 / 4
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ﬂ (117

In parallel combination of condensers which quantity remains

same for each condenser ?
(A)  Charge (B) Energy
(C) Potential difference (D) Capacity
26. A q WA F e Tdga veed w@ A W T dF FRIO I A
(A) W§ & B) T2 SR
© T @m D @@
On inserting a dielectric material between two positive ch.;arges in

air, the value of repulsive force will

\m]/increase (B) decrease

(C) remain same (D) become zero

0-2 pC % & wusR aun fawda et % o= g0 3-0 Aft }1 T A

27.
fayga et &
(A) 60 FAM-HI B) 6-0x1078 FEm-Hix
(€ 12:0 FamE-HT (D) 12-0x1078 @"ﬁ:{_tﬂﬁ
(2587127107 Page 15 / 40
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cen tWO eq ;
The distance be et il be
, (ric dipo© m
. Thelr clec
3-() cm o 0 Coulomb
tre (B) 0 Mg,
oulomb-me
By 60c ] 12-0x107" coulomy
(D .
b-metre
120 coulom
i & f@m%lﬂ?@@'i“h'ﬂma@ﬁw
@ ¥ I8 F M n e 168 |
28. | ”
B ————
A = ( €
(A) < _
ng o) I
(C) . d
ic di situated. The.
losed surface 7t electric dipoles are .
Inside a clo
ill be
{ectric flux coming out from the ciosed surface wi
elecir
o
B ==
oL B 2
() 2?1- | (D) zero
€o
0. o o T ik 1 s 6 syt 7 w4
VIR G B) %
(C) % D) ]
[25A/12/107 | .
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vo light
T ght waves of cqual amplitude and equal wavelengths are

superimposed. The amplitude of the resultant wave will be

maximum when phase difference between them is

Ly g zZero (B)

A

© 5 D)

30. GfT S H Fr oot w6 yEv qw % g B 2
A) 0° | (B) 45°

(€ 90° (D) 180°

In polarised light the angle between plane of vibration and plane of

polarization is

(A) e fRTl (B) T T
©) v o o)
[25A712/107 Page 17 / 40
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'Which of the following is not an electromagnetic way,, 5
(A) Alpha rays (B) Gamma rays
_Q/Infrared rays (D) X-rays
32. ﬁﬁﬁiﬁﬂﬁ#$1ﬂﬂniﬁfﬁgﬁJgﬁﬁaqﬂﬁTdﬁ?mﬁfﬁﬁtqgfqmﬁ%
(A) WP TRH W (B) FEHh IR W

(C) zHH dgar (D) $Th! TUSIhHaT W1

The speed of electromagnetic wave in any material mediumd

not depend
@/’ Upon its wavelength (B) Upon its frequency
(C)  Upon its intensity (D) Upon its permittivity

33. uaﬂm—%ga:ﬁﬂﬂqiﬁrﬂaniiawﬂ%ﬁsmmm'éiﬁhﬁnimaﬁtR:ﬁmm

YT
(A) = B) e @
(©)  saRefdia wd @ (D) & Fget & R Frrm @

25A/12/107
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In the phenon
1en . .

intensity of inciden light, the photoelectric current
(A) Increases
B} decreases
(C) remains unchanged
(D) first increases then remains constant
34, Torell TR 1 & W @ el i ) imded ke A e 2
(A) FTEEE W (B) & W

(©) ST (D) WETW

The wavelength of de Broglie wave associated with any moving

particle does not depend on

(A) ~mass ' (B) charge
(C) velocity \(j}}/momentum
35. WA % A gegHH Hl §A @
h a Ay
V. I
02
(C) he (D) o
v
25A/12/107 Page 19 / 40
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- l
The formula of kinetic mass of photon 1S [

& hv ® %
C
S 2
© ke @/ o
36. aﬁwqﬁm?@f%ﬁmﬁ“‘ﬁ@%wﬂ@ﬁ

6 e 20 At o
A 5 ® 2

© L o 3

If two converging lenses of equal focal length f are keplt in con,
then the focal length of the combination will be

A f B) 2f
y/ £ @) 3f

37. T ITA W H gwar 2 SR }1 3ER Bied g anft

(A) 203 (B) 50 ¥

(©)  4owft (D) 60 ¥

Power of a convex lens is 2 dioptre. Its focal length will be

@A) 20em (B) 50cm

(C) 40cm (D) 60 cm

25A/12/107 Page 20 / 4
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38 ﬁaﬁ“‘mﬁﬁqﬁqmaamﬁa;faqﬁﬁiﬁwﬁﬂﬁm

JME R ?
(&) I (B) o A
(C) Ui (D) SRR L)

Which of the following is used to reduce chromatic gberration 11

lenses ?
(A) Convex lens
(B) Concave lens
9/ Achromatic combination
(D) Cylindrical lens
vo. e e @ A et g gaan o &, R S
HoEdATF 5 U A}, A9 e A |
&) = Eh (B) 3Fa gFfl
© @R @ =

g ¥ verd %

A convex lens is dipped in a liquid, whose refractive index is equal

to the refractive index of the material of the lens. Then its focal

length will

(A) become Zero (B} become infinity

(C) reduce (D) increase

Page 21 / 40
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T
40, WEA % o W%
@ P qadd % B
D)
() Eﬂﬁ'ﬂ?{m%w (

d due to
oloureé

The bubble of soap appears ¢

1 .

ization
\ﬁ)/polanza
(A) diffraction -(; .

tion
D) reflec
(C) interference (D)

L ' ) - ?
41. ﬁq%fﬁaaﬁﬂ%égaﬁﬁqﬁfm“mmm%
(A) @l (B) SI® AU
(€ e adt | (D) TEE-Y

Which of the following cannot be polarized ?

(A)  Sound waves

(B) Light waves

B wah o
(C) ?ﬂtrgfﬁ-qu

(D)

0
Page 22 / 4

https://www.bsebstudy.com


https://www.bsebstudy.com/

[117]

A person uses spectacles (lens) of + 2D power. His defect of

vision is
(A) myopia (B) hypermetropia
(€)  presbyopia (D) astigmatism

43, & TR § dm W m%mﬁmm%m&mﬂwwﬂ%
(A)  n-SHR H GEIETFIEE (B) pIHR HI Hedrad
(C) n-ARLH Heth (D) p-FHR H AP
When boron is mixed as impurity in silicon, then resultfdnt
matter is |

@/n—@pc semiconductor [Bi p-type semiconductor

(C) n-type conductt;rr - (D) p-type conductor

44. n-m%aﬁammﬁWMW@?fﬁ
() ® ®
(C) 3@&;11?1?113’(8- (D) T @ B T
In n-type semiconductor the minority charge carrier is/are
{AY” electrons (B) holes
(C) electron and hole (D) none of these

25A/12/107 Page 23 / 40
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() N OT N

if the inputs .
logic gate’s output is true only if t P are dlffeher
Which logic g ‘

(B) AND gate

(A) OR gate
‘ (D) XOR gate
(C) NOT gate :
46. Uy ARFG TS BT 8
(A) SR SEE (B) LED
(C) R sHEE (D) (A) 3R (C) a]
Reverse biased diode is
(A)  Zener diode \LB)/ LED

(C)  Photodiode (D)  both (A) and (C)

47. NAND % & qftrm sivs 3

A AB-
) Y (B)

(C) A.B

Y
(D)

[2SAML/TO7 |
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ﬂ | (117 ]
\

on of NAND gate is | L

——

A A.B=
l]/ Y (B) A+B=Y

(C) A.B

Y . (D) A+B=Y

48. PR e Haw & g weR ) wod ww wdm fwa S ¥ 2
@) st aE R———
(C) U aw (Dl) ife |

fibre optic communication ?

What type of wave is used in

(A) Sound waves | - (B) Electromagnetic waves

(D) Mechanical waves

Meismic waves
v oy s 35 fore Pt 8 i s @ 1w fa d 2
(A) 30 - 300 Hz (B) 30 - 300 kHz
(C) 30-300 MHz (D) 30 - 300 GI—Iz-
25A/12/107 ] Page 25 / 40
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m [ 117

Which one of the following [requency ranges is used for Ty
transmission ?

() 30 - 300 Hz (B) 30 - 300 kHz

(C) 30 -300 MHz (D) 30 - 300 GHz

S0. UH q 7 % woeenfiet % ot qew ofet w1 R ?
(A) SR (B) qgHl I HEAI
(C) R 6 wen (D) T HE
What is the main difference between isotopes of the same element ?

(A)  Number of protons (B)  Number of neutrons

Mumber of electrons (D) Atomic number

51. fr=fafed d #w-wn Wit & &1 wwr a2 -

(A) ATH &] (B) e o

(C) 7T &9 (D) WM &y

Which one of the following is not a type of radioactive decay ?

(A) Alpha decay (B) Beta decay
(C) Gamma decay @/ Muon decay
25A/12/107 e
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P 500nmﬂwmﬁ@%ﬁmmm1)
(mﬁ C=3x108

m/s M h=6.626x10"H Js)

A 4)(10“19
{] J (B} 2.5x10719y

€@ 12x1078y D) 6.-6x10719y
What is the energy of a photon with a wavelength of 500 nm ?

(Use ¢=3x10% m/s and h=6.626x10"3* Js)

{(A) 4x10719 J (B) 2,.5“0—19 J

M-leo'laJ D) 6.6x10-1%
53. m@aqﬁa;wﬁaﬁq—zﬁ%ﬁwmﬁwﬂ%?

(A)  wgEA Ao | (B) &R Afl

(C) = Aofl (D) % Aol

Which series of hydrogen spectrum lies in visible portion ?

(A) Lyman series (B) Balmer series

J&r Paschen series (D) Brackett series

54, ﬁw%lﬁaaﬁaﬂﬂmﬁmﬁam%?

A) o=H" (B) B~
© e (D) WA
| Page 27
25A/12/107 | >age 27 [ 40
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Which of the following is chargeless particle ?

(A)  a-particle (B) p -particle
(C)  Proton 9)/ Photon
55. Xx-frot §
&) TR e @) TR T ST

(C)  THOWH hoers SRE (D) forea - Ul

X-rays' are
‘_{}')/ moving electron (B) moving positive ions
(C) moving negative ion (D) electromagnetic waves

56. 1amu®l g Sl g
(A) 190 MeV (B) 139 MeV

(C) 913 MeV (D) 931 MeV

Equivalent energy of 1 amu is

(A) 190 MeV JBY” 139 Mev

(C) 913 MeV (D) 931 Mev
[25A/12/107 T _
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7]
a 1)

100 uF U@ a1 wufta ) 100 aee a% snafea &3 o 301 Gfya s
i

{A) 05 S5 (B) 5 e

.

€1 S0 §HA (D) 100 I«

A capacitor of 100 iF is charged to 100 volt. The energy stored in it

will be
uft’} 05 joule (B) 5 joule
{C} 50 joule (D) 100 joule

58, fr=fafga d fogw oo dee-fte ! 2 2

(4) o v ) faga foa
©) faga dm (D) faga writn
Which of the following has unit volt-metre ™" ?

JA" Electric flux (B) Electric potential
(C)  Electric field (D)  Electric capacity

59. dqd weR d 9re @ 9% gori 1 svEr 3 v 9% & 4 & @
a1 favarm v e gy 2

(A) v F g B) V¥ wsE

©€)  V*F g (D) V2 % FwrRrawd
| 25A/12/107
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[117I

ity v of fre° electrons 1N -€onducy,
ft velocl

ifference Vb

The relation between dri
etween endg of

i : : ial d
in electric conduction and potent!

conductor is

rtional t
(A) proportional to V (B) nversely ProPo oV

i 2
; . versel proportional to V
(C) proportional to v2 (D), inversey

T et i gieedl vmwﬁﬁﬂiﬂ@mm_%’ﬁy‘m(ﬁﬁ

60.
b 19 s &) & o s e 21 e 1 S E
(&)  tan® o B) cotb
(C) sinbd (D) cos®H
The‘ graph b.ctweeln voltage V of a conductor and current [isa
stréight line, which makes an angle 0 with y-axis ( which
represents I). The resistance of the conductor will be
( tan 6 : ' (B) cotd
(C) sin® | L (D) cos@

61. faea ufy i wfe &l 2
(A) VR B) Vvig
© VR D) v2p,

25A/12/107 T -
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a (117
power of electric circuit 1s
(A) VR B) V R
€ V¥R O V2RI
L, TN EgA F WY ACEAS Ny
(A) o R
(B) R
€) ot sga ¢ 3k wft wea
(D)  3afafda & 2
With the rise in tamp;rature, the resistance of semiconductor
(A) Increases
\[Bl decreases
(C) sometimes increases and somctimes decreases
(D) remains unchanged
63. ﬁm%f@aﬁgﬁq-mwﬁlﬁmzﬁmm%?
(p = Sfdueal, 1= Tere A TATE, A = JTI FE &)
@ (%) ® o(4)
©) EIF- (D) %
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ill?]

. R ? (p= resjg..
Which of the following represents resistance, ( Slstmlth

- ea
I = length of a material, A = cross-sectional ar )

@ o(4) o o4
© -k o 2
64. e g Tl & forg o gl (11,) A R
@A) p, <l @ =l
€ g, >1 D) w,>1
The relative permeability () of ferromagnetic substance is
(A)  p, <1 (B) | w, =1
C) u,>1 B p.>>1
65. R, R, 3 R, Wit & si'@mqﬁwﬁ‘msrﬁlﬁaﬁw%aum
(A) TEH B B |
@) P=adh
€ wAIAR
(D) Sfedta % Hed % Irqura # fanfora S 8
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In series Cl . i
Ireuit with Tesistors p [ 117

2 and R

(A) -~ same

(B)  different
(C)  zero
(D)

(B) == ()

© e e (a/m?)

(D)  diee Wiy Hiew (V/m)

The unit of curre.nt density is

(A) ampere (A)

(B) coulomb (C)
\(9)/ ampere per square metre (A /m?)

(D) volt per metre (V/m)

| 25A/12/107
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m 111?]

67 . qﬁwwﬁmwmmmﬁaﬁwmﬁm

ﬁf@lt@‘am,a’[gﬁ-ﬂﬁaﬂeﬂmaﬂ |

(A) W @M (B) Qg & e

ST
(©) 3w & S (D) an T

i ing th ,
If the 1ength of a Conductor .iS dOUblCd Whlle keeping e potentla]

i ocity of electr :
difference across it constant, then the drift velocity on wij

ble
{8y remain the same B) be dou

(C) be halved (D) increase fourfold

68. m-ﬁqmmama;ﬁwaaaﬁﬁmwa

(A) TR (B) A& ¥ GHHTH

(©) W ¥ seaq o) FafE

'i‘hc direction of magﬁetic- field inside a current carrying solenoid is
(A) circular

(B) parallel to axis

(C) perpendicular to the axis

(D) random

_____--""""
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(117 ]

i mﬁﬁq‘mmﬁﬂﬂﬂaﬁuﬂw%mﬁmmm%?

(A) e My fga Wi

(C) ﬁgﬂﬁﬂ'{{ (D) et

Which of the following devices is based on the principle of

electromagnetic induction ?

(A}  Voltmeter (B) ~ Electric motor
\(9/ Electric generator (D) Ammeter

70. mmm-ﬁmﬁﬁtm%
(A)  TEH W g A R
(B) i 3 evad F W A wEn W
(€) uRarfersht i wrg W
D) (B) 3 (C) 3
The self-inductance of a solenoid dep&nds on
(A) The ‘current flowing through its médium |
(B) The number of turns per unit length
(C} The length of the solenoid

(P Béth (B) and (C)

25A/12/107
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@us - @ / SECTION - B

pe Questions

WY 3T wyw / Short Answer T

mm1#2oﬁgm§!&ﬁlonﬁ$m%’m%f%
2 3% Praffia § . 10x 2,

*2

. ny 1 :
Question Nos. 1 ¢ 20 are Short Answer Type. AnSwer any 10 questm&s

. 10
Each question carries 2 marks : X2 S

1.

R S S

. ")
What_ do you mean by power of accommodation of eye *

2. ToYd sTE B wmem
Explain electrical resonance.

3. T yomadl ohww # smifm dwem 200 v R aR R =3
XL =Xc=6Q, @ I w1 @f mer q@ am qwn qfwy 6 e
et |
The applied voltage in an alternating circuit is 220 V. If R=81¢
X, =Xs= 6 Q, then find root nean square valye of voltage ar
impedance of the circuit,

25A/12/107 T —%
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How do ' '
es refractive index of any medium depend upon the

wavelength of light ?
F T =R 2
What is Curie temperature ?

L g ueE & 9 el & fadl

Write two properties of paramagnetic substance.
e qETIAA 21 99l 43ﬁﬂ%gﬂﬁaﬂﬁéﬂaﬁﬁqﬂaﬁaﬁﬁm

Convert decimal numbers 21 and 43 into their equivalent binary

==}
L]

numbers.
8. qﬁﬁdﬁa"ﬁmmnﬁxauTqﬁﬁdﬁazﬁﬁaqii3Fﬁtﬁﬂﬁﬁ|
Write down the difference between nuclear fission and nuclear

fusion. https://www.bsebstudy.com
9. um%@qumﬁ?%%qmﬁaﬁ%éi

Write the necessary conditions for total internal reflection of light.

- 10. i 3 af g w1 fm fedl

Write Fleming’s left hand rule.

1. Wﬂﬁaﬁ%ﬁ%maﬁ'

Write down twoO basic differences between interferences and
ri

diffraction.
Page 37 [/ 40
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12,

13.

14,

15.

16.

17.

18.

for maiqng core of a transformer.

'aﬁm%mmﬁqﬁ\mélms.l.maﬁ%@

Eﬂa‘ﬂmmaﬁm%mmﬁﬁwﬁ' |

Compare the magnetic properties of steel and saft iron,

Wm*mm%mmm*am@ﬁmm
BT Aty

Mention the two characteristic properties of the materig Sui Ultgpy,

wﬁmmwsﬁﬁnﬁnﬁamﬁmﬁuﬁmﬁmém

T
- mmmﬁm?aﬂtaﬁ? |

A proton and an electron have same kinetic energy. Which one hy,

greater de Broglie wavelength and why ?

Define volume density of charge. Write its SI unit.

Wmﬁmﬁlmsr HEe ford)

1+]

Explain magnetic moment. Write its S| unit

aﬁa(ﬁ,]ﬁﬁmﬁ%aguﬁﬁﬁaﬁl

 Write two properties of beta (B) rays.

a1 5 TR HE B awe

Explain Bohr’s stable orbjt

25A/12/107
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20,

(117 ]
& g R, mmﬁ@“@’ﬁ%%tﬂaf&gﬁﬁgﬁm%

FHATRR B Waa R1 @ 180° Bor & qurt & ey v w7 719 v

An electric dipole is held in a uniform electric field. The dipole is

aligned parallel to electric field. Find the work done in rotating it

through an angle of 180°.
HaR el #, Hew % R e @ Rt fiftet w5 sg@ Skl

Mention two different modes of propagation used in

communication system.

g IAq W / Long Answer Type Quegstions

| qvT GEAT 21 @ 26 3 AT AT & | feet s wvA F T A | gaF & forg
5 3% fRea & : | 3x5=15

Question Nos. 21 to 26 are Long Answer Type Questions. Answer any

3 questions. Each question carries 5 marks : 3x5=15

21.

Wmﬁmmmm@ﬁmﬁlmmﬁyﬁﬁm
arEs MR ¥ wre fenet farg W farga &= i st o R

State and prove Gauss’s theorem in electrostatics. Calculate the
electric field intensity at a point outside a hollow uniformly charged

sphere.
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22,

23.

24.

25.

26.

117,

mngﬂ@%:@w%

freais & fanl fag qen 3 30 .
+3

i in the condit;
obtain Aditigy, for

em (0
State Kirchhoff’s laws and us¢ th

balance of a Wheatstone bridge-
o w R il @ afoe
wWadT ¥ fFraw = enfia |

gﬁﬁg%ﬁaﬁfﬁ@ﬁﬁ%mmm
| e

avelets- Verify the lay

e theory.
reflection on the basm of Huygens’ wav

aﬁa@@;ﬁa— d gl W Fafey,
ard i 2+3

ression for equivalent focg

W
Define wavefront and secondary

A e W e f;, @ f, I
E W AT A BiFE gl F AP

What is equivalent lens ? Derive an €Xp .
and f, kept at a distance ¢

length of two lenses of focal lengths fj

e e S 9 o 1 A g A S
2
e 1 s P "

. o _ ress
Define self-inductance and mutual inductance. Find an expression

for mutuai inductance of two coaxial solenoids.

m—é@mw%?m-é@m%ﬁmw%?mﬁm
fou mq g Frm i =R R 2+3
What is photoelectric effect ? What are the laws of photoelectric

effect ? Explain this law given by Einstein.
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